Yo 4600 Vo 4800 ¥ 5000 ¥=5200 Y= 5400 Yo 5600 Yo 5800

97200 —
97400
97600
it B 3k BF
a
800 ——
m
&f oxmR
===
o
0
1]
Xe= 198000 —

0 (1:2000) 100m
e —————
*FUEEREERTEINENTSES,

HY ERETBRENAEBEATERELER (REXYPRTE LA



Y= 4600 Vo 4800 ¥ 5000 ¥=5200 Y= 5400 Yo 5600 Y 5800

97200 —
7400
97600
it B 3k BF
a
800 ——
m
& oxmR
===
o
0
1]
Xe= 198000 —

0 (1:2000) 100m
e —————
*FUEEREERTEINENTSES,

HY ERMBERENFEERATEREER (B I HEEH)



Yo 4600 Vo 4800 ¥ 5000 Y= 5200 Y= 5400 Yoo 5600 Yo 5800

o F —
Iy
,_ T,
5
e Rryiien
,‘j A= .
it B ik B
________ ; =
&L
BLgEF O |
S g 0 (20000 100m

*FUEEREERTEINENTSES,

HY ERMERENFEEATEREER (LU IHEEH)



Ya4600 Yo 2800 ¥ 5000 ¥=5200 Y5400 Yo 5600 Y 5800

97200 —
197600
it B 5 Bh
0
K= - V9THO0 ——
o nyg ¥ & .-
[ ]
i
)
]
198000 —
()

0 (1:2000) 100m
e —————
*FUEEREERTEINENTSES,

HY ERIMBEREMFEEATEREER (B IHEERRILUR)



